EARAROBEEIERT — 2 N— IBISH —F

2018518150 (A) 10mE#AE1H

il > % 3m% =

108%HE160FKiE

‘ [R1%] & ‘ [REBE] — | & (&) 15000 B

[AE<%] 1 7 :1,400,000 2 j& :490,000 § 3 7 :280,000 4

4 7% :210,000 B 5 j& : 140,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N 4t 3 | AlkEE 1:39.3 4-4-3-1 | 40.7| — 1 499 | KEHEE (fafE)
117[10| ¥~ h/i—= 5.0 5 Gy | ) T
LNMLVTSY B:O04E RS HET7— L
j 3 ft 3 | FHEE 1:39.4 8-8-8-8 [39.8| — 6 466 | tE2ATH (fafE)
EE 7 XTFLINT — 54.0 (3/4) (-4) EEAR
R:IAY>TFyva B:LA K—<TFL4 TERBHIS
N HTHRE R : -9-0- - FEME (115)
315]6 T AT =)L 3 54_0L 1(73?:;5 $9-99 | 39.6 B ?_Af) /|¥]EE¥£
R:F1—=TTVI>T7 BINCTRILY BN
L : 4 3 | EHEER 1:39.8 5-5-6-7 | 40.4| — 4 461 | KAE (iafs)
4|1]1|A¥IRIRR 56.0 (1 172) | EHEE
RTAYALKR BYALEAY Tr—3 Y %4
= 43 | AT 1:40.1 7-6-4-4 | 41.0| — 5 415 | ESEHE (fafE)
5811 F—A 717 %= 54.0 (1 172) L |BEEBE
g /v BIEZRNUTIOR TIARL—Z T 2—
SN T i 3 | EEF 1:41.2 11-10-10-10{ 41.2 | — 2 473 | TRISEEL (AatE)
615|5| /SN TE— 56.0 ®) Lo | Bk
R:Y=Z28—-3I=28— B:INITTURL IS
R 4t 3 | EIFEAER 1:41.5 6-7-6-6 | 42.1| — 9 440 | WEEX (AAFE)
] 4 <y R7A ¥¢53.0 (11/2) (-5) KHLTEER
L:BALIST Ry X BILY—-IZXT* ~ NESREIRARGYERRA
. = EFREA . -11-11- - &z (J11Ig)
glalg| 74725703 4 3 5] 1.(432).2 10-11-11-12| 42.0 9 (4_4:) et
R:74H0 B:ALLT Y PR R ]
c_ # 3 | AHEE 1:42.2 2-2-1-2 | 43.7| — 2 459 | TEEREAL (ARAE)
9lglig E—E-FE—L 54.0 e Co | 8) ERAE
LE-—E-HILEY BE-E-Fyn-> IR
— < o LZAER :43. —-12-12- . — FHEE (MHE)
0 |77z RNt i3 ax 1 (443)0 12-12-12-11{ 42.6 12 (3_927) ors A
L:Jr7—3IUT7> B:ILTrxANAA REEAUS
. =\ t 3 | BEX 1:43.1 1-1-1-3 | 44.6| — 8 493 | BAFIE (/i)
110 g| h—E>FNT> g 56.0 (1/2) (42) | B TS AN #3 b
:Motivator B2 Koy E— Team Hogdala AB &
e 4 3 | HIIIE 1:43.4 3-3-4-5 |44.3| — 7 443 | BHEB (113)
12 2 19—71'7’71—11/ 54.0 (a 1/2) (+6) KET §
R:T—IRAMO— B: 24 LT—FHV L4
@ 1—F—@&BIEf
13=zr= 8,12,2,10,1,4,11,7,6,9,5,3
2al=7F= 8,12,2,10,1,11,4,7,6,5,9,3
G§a=7r= (8,12),10,(2,11),(1,4),7,6,5,9,3
40—F— 10,12,8,11,2,4,1,7,6,5,3,9
[ RN
B OB 10 1609 714K 7-10 700M e & 6-7 1,060 &R 6-7-10 20,0304
% B 10 120 6-10 1,320/ | | # B 7-6 1,240/ | | 3&E 10-7-6 52,070
7 440M 6-7 9,680M B E 7-10 1,530M
6 1,130 B H 10-7 1,800/

ABICOVWTRDTEEERROODE. TR LIV,




